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The pulley system in the above figure is located at the midpoint of the beam CD, and Point C can be
idealized as a hinge. Answer the following question

Assume E=200 kKN/mm?, I, =20x10°mm*, I_ =10x10°mm"
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(1) R B RELEE K (4%)

(2) How much is the strain energy stored in Member CD. (4%)

(3) How much is the strain energy stored in Member BD. (4%)

(4) What is vertical displacement at Point D. (4%)

(5) How much is the work done by the external load.from the unioaded to the equilibrium state.
(4%)

2.

Suppose you are responsible for the safety of the structure shown in Problem 1. Point out each type
of probable failure when the structure is overloaded; EER 3 » BRHHZE (10%)

15,000 Ib

Refer to the above figure and answer the following question; assume E=29000 ksi.
Attention: Point A is a hinge, and Point B is also a hinge.

(1) Find all the reaction forces at the two supports. (5%)

(2) Determine all the member forces. (5%)

(3) How much is the strain energy stored in Member FD. (5%)

(4) What is the vertical displacement at Point F. (5%)
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